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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231355
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662318237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1, 2, 3, 4, 5 and 6. In the options, four possible arrangements of these numbers
are given. Choose the option so that the letters form a meaningful word.

DEHLUE
122456

Options:

1. % 351624
2. % 436512
I ¥ 352146

4 % 243516

Question Number : 1 Question Id : 9662318237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TR S8 T Arder g & don

DEHLUE
122456

Options:

1. % 351624
2. % 436512
3. ¥ 352148
4 % 243516

Question Number : 2 Question Id : 9662318238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:
1. # GEE

2. % NLI
3. ¥ SOM
4 ® LIG

Question Number : 2 Question Id : 9662318238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % GEE
2. % DILI
2% 50OM
4 % LG

Question Number : 3 Question Id : 9662318239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:

1. % Venus
2. % Sun

2. % Jupiter
4 % Earth

Question Number : 3 Question Id : 9662318239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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STET

Options:

1. = g%

2 gt

. % grenid
4 % gedr

Question Number : 4 Question Id : 9662318240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first
TermmL

HHF  UEM . TGF @ Y
Options:

1. ¢ QDM

2. % QCN

2. % RDN

4. % REN

Question Number : 4 Question Id : 9662318240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. ¥ QDM
2. % QCHN
3. % RDN
4. % REN

Question Number : 5 Question Id : 9662318241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn a certain code language, FIRE = 20, FLOWER = 30, LEMORN = 25, then what will e HISTORY coded as?

Options:
1.9 35
2 % 1%
3% 40
4 % 45

Question Number : 5 Question Id : 9662318241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U T #1E AT H, FIRE = 20, FLOWER = 30, LEMON = 25 & gTHISTORY &1 ®12 F47 57

Options:
1. ¥ 35
Z % 15
3. % 40
4. % 45

Question Number : 6 Question Id : 9662318242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If CHAZSE is coded as FEDVH, then what will DRIVE be coded as?

Options:

1. % GULYH
2. % EFMZIH
3. % FRKXG

4. % HLMEF

Question Number : 6 Question Id : 9662318242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I CHASE #T FKDVH & &0 # #ifEq far 91 5, T DRIVE &1 35 Fifeq i [

Options:

1. ¥ GULYH
= % EPMZIH
3. % FREKXG
4. % HLMXF

Question Number : 7 Question Id : 9662318243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Five emplovees reach the office in a particular sequence. Sanchi came before Palash but after Mishi. Anmol
came before Ankit but after Palash. Who was the first one to reach the office?

Options:

1. % Sanchi
2. % Nishi
2% Ankit
4. % Palash

Question Number : 7 Question Id : 9662318243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % HrEf
2 o fid
3 % alfed
4. % AT

Question Number : 8 Question Id : 9662318244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assuming that the information in the statement is true,
even if they appear to be in variance with commonly known facts, select which of the conclusions logically
followis) from the statement beyond reasonable doubt.

Staternents. -
[ All CATTOLS are potatoes.
II. Mo potato 1S onicr.

Cornclusions: -

[. Mo onion 15 a carrot.
II. Mo carrot is an onior.

Options:

1. % Only Conclusion I follows.

2. % Only Conclusion 1T follows.

2. % DNeither of the conclusion follows.

4. % Both Conclusion [ and 11 follows

Question Number : 8 Question Id : 9662318244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 9662318245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % 133
2. % 228
2% 3204

4. ¥ 157

Question Number : 9 Question Id : 9662318245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 133
2. % 228
=% 204
4 ¥ 157

Question Number : 10 Question Id : 9662318246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that 15 related to the third nurnber on the same basis as the second number 15 related to the

first nurmber.

150 450 1697
Options:

1. % 507

2. ¥ 507

3. % Z1z

4 % -Z12

Question Number : 10 Question Id : 9662318246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Toiey 1 = ST ST AT § I AR Hel 2 g S Weh T W T HE AT Uge | ST  Hel 4 g

150 =450 1897
Options:

1. % 507

= W 507

3. % Zlz



4 ® -Z212

Question Number : 11 Question Id : 9662318247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be intercharnged o malke the below equaticon mathernatically correct?

lzxl2+4+65-2 =44
Options:
1% -, +

2 % 4 -
3V 4+ -

4. % 3 =

Question Number : 11 Question Id : 9662318247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tary T i & i € # Gyl @ O T TR 31 el 1 WY S g AT ey

12 x124+4+-8-2=44
Options:
1. % -, =

2 ® 4 -
¥4+ =

4 0% w =

Question Number : 12 Question Id : 9662318248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two numbers should be interchanged to make the below equation mathernatically correct?

Exd+12-7+2=25
Options:
1.9 12,7

2. % 12,2
3 %6 12
4 % 4 12

Question Number : 12 Question Id : 9662318248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et oy T T i T S qa e d T T 1 Seelt T e i T ST ang?
Exd+12-7 +2=25

Options:

1.¥ 12,7

2. % 12,2

2% 5,12

4 % 4 12



Question Number : 13 Question Id : 9662318249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing number in the fOllOW‘iﬂg [IUITIDer Series.

9, 16
Options:
1.9 25

2. % 23
3% 29
4 ® 27

SE, 43

P————

Question Number : 13 Question Id : 9662318249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TgieriET wweaT At o T @ Jd @i
9, 16
Options:
1.9 25

2. % 23
3% 29
4 ® 27

SE, 43

P m———

Question Number : 14 Question Id : 9662318250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 3827 = 2, 4816 = 2, B&E2E = 4, then 68216 =7

Options:
1.¥32
2. % 4
3. %5
4 ® 2

Question Number : 14 Question Id : 9662318250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i 3427 = 3, 4&16 = 2, C&AESS = 4 AT 6&216 = 7 T @

Options:
1.¥3
2. % 4
3. %5
4 % 2

Question Number : 15 Question Id : 9662318251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following figure, rectangle represents runners, triangle represents scientists, circle represents Indians
and square represents mothers. Which set of letters represents Indians who are runners?

A

Options:
1.¥ ]I
2. % [HG
3% GK
4 % GF

Question Number : 15 Question Id : 9662318251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 ]I

2. % [HG
3% GK
4 % GF

Question Number : 16 Question Id : 9662318252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two men Rajesh and Mavin start from the same point. Rajesh walks 10 ki north, then turns east and walks S
kar, then turns to his left and walks & kur. MNavin walks 8 kan east, then turns north and walks 15 ko, then
turns to his left and walks 3 ki Where is Navin standing rnow with respect to the current position of Rajesh?

Options:

1. % 1 ki south
2. % 1 kmnorth
2% Bl east

4. % 8 krn west

Question Number : 16 Question Id : 9662318252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1.9 1 krn Zigm
2 % 1 km 3w
3 % Bk

4, % 8k TiEw

Question Number : 17 Question Id : 9662318253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following cubes in the answer figure CANNOT be made based on the unfolded cube in the
question figure?

ﬁgﬁ%

Options:

Question Number : 17 Question Id : 9662318253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 9662318254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following answer figure completes the series of the question figure?

Ve AEA
4 BHxO * 7
A =2 S

Options:

X
, %[> O

&
Ry

Question Number : 18 Question Id : 9662318254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AT & & & | 30 AT U ST AT B O da [ gy

Ve NEA
4 BxO = ?
A = S

Options:

X
Y L=

2. ¥ <

X
4 x> U

Question Number : 19 Question Id : 9662318255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

e

Options:

'




L

Question Number : 19 Question Id : 9662318255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

'

Question Number : 20 Question Id : 9662318256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& piece of paper is folded and punched as shown below in the question figures. From the given answer
figures, indicate how it will appear when opened.

¢

-




Options:

SO
oY

1. ¢

M
[
YN

N
N
A

N

>0
Y

AN
7
[
¥

N7 NP

OO
4 8 AN AN

Question Number : 20 Question Id : 9662318256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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J
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>
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N
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I
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=
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General Awareress

Group Number : 2
Group Id : 966231205
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarernsss

Section Id : 966231320

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231356
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662318257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following states MNati dance is associated?

Options:

1. ¥ Hirmachal Pradesh
= % Arunachal Pradesh
3. % Uttarakhand

4. % Goa

Question Number : 21 Question Id : 9662318257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafetaT & & fom T 3 amer 91T Iod 2T gam 57
Options:

1. & U= ned

2. % SO U

3. ¥ JmEs



4. % T

Question Number : 22 Question Id : 9662318258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following state is Thadvya folk music related to?

Options:

1. ® Sikkim

2. % Karnataka

3. ¥ Uttarakhand

4. % Madhva Pradesh

Question Number : 22 Question Id : 9662318258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgforieT & & fomr T o \RT 27T /e STiid Gared a7

Options:

1. % oA
2 ® Fdiew
3. ¥ TITEE
4. % gy

Question Number : 23 Question Id : 9662318259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eharchi Puja, during which 14 gods are worshipped, is associated with which of the following states?

Options:

1. % Assam

2. % Manipur
3. % Bihar

4 % Tripura

Question Number : 23 Question Id : 9662318259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T, Foreer S 14 Saarelt & O & 9T g, ey § € e e & e g2 8
Options:

1. % @\

2 % g

3 % W

4 & T

Question Number : 24 Question Id : 9662318260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following banks is authorised for providing credit for the development of agriculture?

Options:
1. % NABARD
= # REI



3. % SEI
4. % SIDEI

Question Number : 24 Question Id : 9662318260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TgieieT # & @1 a7 o §i & dwe o W0 307 uge @ o oy sifega 27
Options:

1. ¢ Tt iy o i fEee S

2. % gwdty foad

= ¥ T A oTE BT

4 % R oY FET T o

Question Number : 25 Question Id : 9662318261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the fOllOW‘iﬂg taxes 15 imposed on the bodies that have negative externality?

Options:

1. ¥ Pigovian tax
= % Tobin tax
3. ® Octroi tax
4 % GST

Question Number : 25 Question Id : 9662318261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafEET # & B9 A7 9% AEEIcHE J1EaT aTe a0 @ T 87

Options:

1. & Tumiiaae 2o
2 % e o

3. % afigers ad
4. % FEeT

Question Number : 26 Question Id : 9662318262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not an example of first class lever?

Options:

1. * pliers
= # see-saw
3. #® scissors

4 % nutcracker

Question Number : 26 Question Id : 9662318262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TamET # & B -0t & I BT ISTE A5 87
Options:

1. % Rmer



2. % di-4r
T % g
4 & giar

Question Number : 27 Question Id : 9662318263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pellagra is caused due to the lack of Vitamin

Options:
1. ¥ B-2
Z %D
3. % B-1
4 % 4

Question Number : 27 Question Id : 9662318263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TereTfirer T et 3 opTeoT ST 21

Options:
1. ¥ B-3
2. %D
3. % B-1
4 % 4

Question Number : 28 Question Id : 9662318264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Gibraltar Strait connects the Mediterranean sea with ________
Options:

1. % Antarctic Ocean

2 % Atlantic Ocean

3. % Indian Ocearn

4 * Arctic Ocean

Question Number : 28 Question Id : 9662318264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FeTwet ARd e YHed dIR ®

Options:

1. % sETEfe® AFTANT
2. ¢ AN HETETT
3. % g EgEnr

4 % FAREE IEETT

Question Number : 29 Question Id : 9662318265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Dharei Darm located?

Options:



1. % Azsam

= % Maharashtra

2. ¥ Gujarat

4. % Himachal Pradesh

Question Number : 29 Question Id : 9662318265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

RS e e o @ fee v #f T 27
Options:

1. % =/

2. % W

3 ¥ TR

4 & TR UG

Question Number : 30 Question Id : 9662318266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the highest point of The Alps, mountain range of Europe?

Options:

1. * Mount Elbert
= % Mournt Elac
3. % Matterhorn
4. % Monte Viso

Question Number : 30 Question Id : 9662318266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % AT Ueae

2. ¥ U3 elwm

3= fIE{ETFi

4 ® qie foar

Question Number : 31 Question Id : 9662318267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who becarme the first Governor General of [ndependent India”

Options:

1. * Archibald wavellin
= % Clerment Attles

3. % Lord Curzom

4 % Lord Mountbatten

Question Number : 31 Question Id : 9662318267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FOdd VT & gl HgR=auTe @1 a7



Options:

1. ® sdfeles dafe
o ® fgere g

2 ® F2 T

4. ¥ 12 ATITeed

Question Number : 32 Question Id : 9662318268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fa-Hien came to India under the reign of
Options:

1. # Harshavardhana

2. % Chandragupta Maurya
2. ¥ Chandragupta I Vikramaditya
4. % Muhammad-Ein-Tughlag

Question Number : 32 Question Id : 9662318268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ETRa o __ W ATE H AT ST Em

Options:

1. % guaelq

2 % ggng A

3. ¥ ggE 1l Ewmiee
4. ¥ grmg o qe

Question Number : 33 Question Id : 9662318269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the battle of Karnal, Nadir Shah defeated

Options:

1. ¥ Muharmmad Shah
2. % sSikander Lodi

Z. % Babur

4 # Shah Jahan

Question Number : 33 Question Id : 9662318269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TN % g B, AT M _____ T FTT 4
Options:

1. & ggwg aTg

2. ® Toehay Al

3 % gy

4. % o Rl

Question Number : 34 Question Id : 9662318270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Where was the first session of UN held?
Options:

1. % Denver

Z ¥ London

2. % California

4. % Paris

Question Number : 34 Question Id : 9662318270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. ® 29w

2 ¥ w@ET

=z ® Siermiia

4 % ofeq

Question Number : 35 Question Id : 9662318271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who received the first Faram Vir Chakra award?

Options:

1. # Joginder Singh
Z % Jadunath Singh
2. ¥ Sormnath Sharma

4. % Shaitan Singh

Question Number : 35 Question Id : 9662318271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UEAT WHE T a5 [OEad ™, (el THaT?

Options:

1. % Fifey &g
2. % ST g
2. giEamer smf
4 % g iEg

Question Number : 36 Question Id : 9662318272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which amendment included Daman and Diu in Indian Union as a Union Territory?

Options:
1. %7
Z % 10
3.9 12
4 % g

Question Number : 36 Question Id : 9662318272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
o Farted o SO A oid & de AT T O B0 H 9 99 5 i e Ty

Options:
1. %7
2 % 10
3.9 12
4 % g

Question Number : 37 Question Id : 9662318273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Preamble to the constitution is a borrowed feature from the constitution of

Options:

1.9 154

Z % Canada
3. % Ireland

4. % Eritain

Question Number : 37 Question Id : 9662318273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e o med e _______ & i & ST e TermaT 2
Options:

1. ¥ o T S

2. % wET

3. ® RRAE

4 ® fgeq

Question Number : 38 Question Id : 9662318274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ______ schedule of the Indian Constitution contains provisions for validation of certain Acts and
Regulations.

Options:

1. % Ninth
= % Eleventh
3. % Seventh
4. % Fifth

Question Number : 38 Question Id : 9662318274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e o AT & _______ AT | P TS et o iRt & deame 3 urere g

Options:

1. & it

2. % el
3. ® gt
4. % T



Question Number : 39 Question Id : 9662318275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following tearns was the first winner of the Indian Premier League (Cricket)?

Options:

1. #¥ Chennai Super Kings
2. % Murrbai Indians

2. ¥ Rajasthan Rovals

4. % Kolkata Knight Riders

Question Number : 39 Question Id : 9662318275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TETeET # | B G S S iEa W s (feee) @ agel e ot
Options:

1. % g g e

2. % gt dfeeda

2. ¥ e ey

4 ® FHEHET AR T2

Question Number : 40 Question Id : 9662318276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following tearns was the first one to win the World T 20 Cricket Championship?

Options:

1. % Australia

Z % MNew Zealand
2. ¥ India

4. % England

Question Number : 40 Question Id : 9662318276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt & & ® 1 S Terer @1 20 e HUomiEy Siiae et uge o 2t

Options:
1. % SJT@ﬁ?JT'
> ® _ﬂﬁﬁﬁgr
= W T
4 % Tz
Arithrmetic Alality
Group Number : 3
Group Id: 966231206
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 966231321

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 966231357
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662318277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the least number by which 1440 rmust be divided 50 as to make it a pEI‘fECt sSquare?

Options:
1. % 2
2. %5
3.9 10
4 % 12

Question Number : 41 Question Id : 9662318277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE ~ATH HEAT AT B, A g 1440 B e T ST gy a1 6 0w qut ai s=rar o w967
Options:

1. %2

2. %5

3. ¥ 10

4 % 12

Question Number : 42 Question Id : 9662318278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The HCF and LCM of 2 positive numbers are 2 and 132 respectively. If one of the numbers is 2 1ess than the
double of the other, find the smaller nurriber.

Options:
1.= 11



2.9 12
3% 22
4 % 18

Question Number : 42 Question Id : 9662318278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 H[TcHe T3 T HgoH GHITe & &I FgoH GHTIEG & wh: 2 & 132 §1 9ig 3 Teamsll # § UF gad F e 4 2 #A g,
T Tl TEAT T TGT w70

Options:
1.% 11
= 12
3w 22
4 % 18

Question Number : 43 Question Id : 9662318279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifxfv=E/8and 11x + 6y= 1020, find the value of x.

Options:
1. ¥ 50
2. % 100
3. % 75
4 % 25

Question Number : 43 Question Id : 9662318279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AE sy = 518 oW 11x + 6y = 1030, T x & e AT ®1
Options:

1. ¥ 50

2. % 100

3. % 75

4 % 25

Question Number : 44 Question Id : 9662318280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average weight of 12 people increases by 1.5 kg when a new person replaces one of them weighing 62 kg.
What is the weight of the new person?

Options:

1. % e kg
2. ¥ 30 kg
3% B2kg
4 % FEkg

Question Number : 44 Question Id : 9662318280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



12 gﬁmaﬂ'ﬂﬁw 1.5 kg &% AT 5, T 62 kg T ool T odith & w07 0¥ U 72T it T AT 51 99 A7 e &7 o
FT &7

Options:

1. % 76 kg

o ¥ B0 kg

3 % B2kg

4 ® 7kg

Question Number : 45 Question Id : 9662318281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the total discount applied when 2 successive discounts of 15% are applicable.

Options:

1. ¥ 33.59 percent
= ® 3744 percent
3. % 2E6.89 percent

4 % 27 59 percent

Question Number : 45 Question Id : 9662318281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

15% ¥ 3 Wi ¢ AL g T e a1t g2 AT et
Options:

1. % 38.59 uidead
2. ® 37 44 nidaT
3 % 3689 nideT
4, ® 37.50ndaT

Question Number : 46 Question Id : 9662318282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two workers ¥ and ¥ are paid a total of Rs. 8000 by their employer. ¥ received S0% more than the sum
received by ¥, How much did ¥ receive?

Options:

1. % Rs. 2400
2. ¥ Rs. 3600
3. % Rs. 3000

4. % Rs. 4000

Question Number : 46 Question Id : 9662318282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST fTieRt X &Y w1 Ik T &RT Fet 6000 0 T U foham Tam ¥ w1 X &7 W o=eid § S0% Sféed o= umd gl
Y T TeRa=AT TR WTH 57

Options:

1. % 2400 T
2. ¥ 3600 T
3. % 2000 ¥
4. % 4000 T



Question Number : 47 Question Id : 9662318283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An article was sold for Rs. 2600 at a discount of 40% after 2 successive mark-ups of 25% each. Find the cost
price of the article.

Options:

1. ® Rs 2640
2. % Rs. 3240
2. % Rs 2600
4. ¥ Rs 2840

Question Number : 47 Question Id : 9662318283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
25% Wedeh o 2 0 Sl o a1g 40% Hl 52 &1 O UF o1 @1 600 T0 § =T T 39 o1 & amd ged J1d w1

Options:

1. % 2640 w7
2. % 3040 T
% % 23600 w0

4 & 35840 w0

Question Number : 48 Question Id : 9662318284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The population of a town increased frorm 520000 to 650000 in a decade. What is the average increase of
population per year?

Options:

1. % 2 percent

2. % 2 25 percent
3.9 25 percent
4 % 2 75 percernt

Question Number : 48 Question Id : 9662318284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Teel 1 ATelel U 24 § 520000 & ggae 650000 §T e Wid O F=ewar & 19T ghy 727 57

Options:

1. % 2 e

o % 2 oS udaT
3. ¥ 2.5 uidad

4 ¥ 2 75 uided

Question Number : 49 Question Id : 9662318285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorre 10 articles were bought for Es. 8 and & articles were sold for Es 10, What is the pI‘Ofit percentage’?
Options:

1. % 45 percent



2. % 50 percent
3. % 52 E percent
4. % SE.2E percent

Question Number : 49 Question Id : 9662318285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FF 10 o9 8 T & AT § WiiS M7 3% 8 a%qg 10 ¥ & 91§ of T &A1 idad Fa7 87

Options:

1. % 45 gideT

2. % SO udeT

3. % 5o oudaT
4, ¥ 5625 nidem

Question Number : 50 Question Id : 9662318286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Salaries of ¥ and ¥ are in the ratio 4:5. If the salaries are increased by Rs. 5000 each, the ratio becomes ©:11.
Find the salary of X.

Options:

1. % Rs. 38,000
2. % Es. 40,000
3. % Rs. 44,000

4. % Rs 50,000

Question Number : 50 Question Id : 9662318286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X Gﬁ;ﬁ_l‘faia'd_rr-ﬁlﬁ @ SUTd H 81 3R Uedeh & od= H SO00 20 & s [qel & A1 8, 91 a5 <RI 9:11 51 A7 81 X ® e
AT

Options:

1. % 326,000 ¥
2. ¥ 40,000 ¥
% % 44 000 T
4. % 50,000

Question Number : 51 Question Id : 9662318287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afg 213:16)7: X/ 12:60)24, TT X & Trd 1T F1

Options:

1. ¥ 375
Z ® BE0
3. % 1000

4. % 980

Question Number : 51 Question Id : 9662318287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If 213167 K[12:60/24, find the value of .
Options:

1. ¥ 375

2. % 280

2% 1000

4. ® 960

Question Number : 52 Question Id : 9662318288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two numbers are in the ratio 5:7, 5 is subtracted from each of the numbers and the ratio becomes 202, Find
the srraller nurmber,

Options:
1. % 15
2. % 20
3. ¥ 25
4. % 30

Question Number : 52 Question Id : 9662318288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST EEAN] 5:7 O SIUTd H B, Wedi® §EAT 5 e AT § e 9 ST 203 5 AET 8 wgAaH ST 1w

Options:
1. % 15
2. % 20
3. ¥ 25
4 % 30

Question Number : 53 Question Id : 9662318289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sumof 15,000 amounts to Rs. 21,000 in 4 years. What is the simple rate of interest?

Options:

1. % S percent
2. % 7L percent
2. ¥ 10 percent

4 % 125 percent

Question Number : 53 Question Id : 9662318289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 gt # 15,000 & RIS ag@y 21,000 0 5T ATE! 81 sAT &1 A0 &7 47 57

Options:

1. % Syide

2. % 75U
3 ¥ 10 nideT

4 % 125 udaT




Question Number : 54 Question Id : 9662318290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A man on a tour travels the first 200 kmat 120 kmfh and the next 200 kmat 150 kmfh. What is the average
speed of the journey?

Options:

1. % 135 km/fhr

2. % 132 27 km/hr
2. ¥ 133 33 kmjhr

4 % 1375 kmfhr

Question Number : 54 Question Id : 9662318290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

BT T TEI U =i Tt 200 ke &1 120 kb # SATel 200 ke @1 2T 150 kb @1 71 & =70 FaT g1 <=0 &l
AT T T 57

Options:

1. % 135 knfhr

2. % 132 27 km/hr
3. % 13333 kmihr
4 % 137 5 km/hr

Question Number : 55 Question Id : 9662318291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& can do a piece of work in 12 hours, E and < can do it in 8 hours while & and < can do it 9 hours. How long
will B alone talke to do ity

Options:

1. * 10 hours

2. % 10.29 hours
2 % 11 hours

4. % 1129 hours

Question Number : 55 Question Id : 9662318291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A Qfﬁﬁjﬂ:ﬂmﬂﬂ'ﬁ 12ae e aFar s, E AN C T0 8 O H 9w Oad § Fair & o0 C 50 9 08 § & 9d 51 B a1ahe 56 4 | Topgr
T T

Options:

1. % 109

2. ¥ 1029898
z % 11w

4 % 11299

Question Number : 56 Question Id : 9662318292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & can do a work in 80 days, find the number of days in which B can do the worlk alone if they can together
finish the work in 22 davys.

Options:



1. % 50.23
2 ® 5071
3. %5128
4 ¥ 5333

Question Number : 56 Question Id : 9662318292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofe & Topet @l @t 80 At § o2 @ 5, 91 34 Teat & T o @ aH B areve @1l 9 dwdT 5, Tl o UF 9 HAw a8
w1 32 fedt o 037 ¢ "od )

Options:

1. % 5033
2. % 5071
2. % L5128

4. % 53.33

Question Number : 57 Question Id : 9662318293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A rman walked diagonally in a park of which the sides measure 15 mand 20 m respectively. What percentage
of walling was saved by not walking along the edges?

Options:

1. % 2271 percent
2. % 25 percent

3. ¥ 2557 percent

4 % 3333 percent

Question Number : 57 Question Id : 9662318293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

w%ﬁmwmﬁﬁaﬁm@m T ST g0 ®ES: 15 m R 20 m g TRt 0T 951 e & fora wid e i @t
TET :

Options:

1. % 2271 uidea
2. % 25 uide

3 ¥ 2857 nideT
4, % 3333 0daT

Question Number : 58 Question Id : 9662318294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The curved surface area and the diameter of a right circular cylinder are 352 cm?

its height.
Options:
1. % 9cm

2 % Zrom
3% 10cm

4 % 11 cm

and 14 crn respectively. Find



Question Number : 58 Question Id : 9662318294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AHE T Jo IR EHET o AR 9% #1 S9hd AT e S 352 cm® Y 14 CITL 51 SET TS AT H
Options:

1. ¥ 9cm

. ¥ 5eom

Z % 10cm

4 % 11cm

Question Number : 59 Question Id : 9662318295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The fOllOW‘iﬂg table shows the sales of a restaurant for a weels, On how IMany days wera more pizza s0ld than
cheeseburgers?

Cheese
Day Hamburgers |[Pizza burgers
Sunday 12 150 145
Monday a0 75 20
Tuesday 504 B &5
Wednesd
ay 65 55 75
Thursday 75 a0 85
Friday 85 75 100
Saturday 1000 120 130
Options:
1.v3
o %4
3 %5
4 % g

Question Number : 59 Question Id : 9662318295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o e U AT o oy U teaed &1 Tkt @1 garfar 21 frer T o et & g o arfde i a2 e

dfwaiy
fem (gl (R
IEqaR 120 150 145|
HHaR 80 75 90
HiTeaR 50 80 65
qUaR 65 55 75
T&aR 75 50 85
YHFar 85 75 100
LUREITS 100 120 130|
Options:
1.v3

o ® o4



3. %5
4 % g

Question Number : 60 Question Id : 9662318296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following line graph shows the score of a batsman in five consecutive matches. In which match the
highest increase in score is recorded?

70

B 40 — . 15 __,.-"' : A
s — N, 25

Match
Options:

1. % 2nd

2. ¥ 2rd

3. % 4th

4. % Sth

Question Number : 60 Question Id : 9662318296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T I U Aecto T 1 AE R O B | a= e TR i 2 T B § T # waitid gy 39 o s 27

Options:

1. % go¢
2 v
3. % o
4. % g

Zeneral English
Group Number : 4

Group Id: 966231207
Group Maximum Duration : 0



Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral English

Section Id : 966231322

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 966231358
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662318297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "Moo error”
option.

&) The population of New York | (B)is greater than any J (C) towrl i India, [ (D) WNo error
Options:
1. % 4
2. ¥V E
3% C
4 % D

Question Number : 61 Question Id : 9662318297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) The population of MNew York, | (B)is greater than any J (C) towrl i India, [ (D) No error
Options:
1. % 4
2 ¥ E
2w C



4. * D

Question Number : 62 Question Id : 9662318298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

& few days ago, | Radhika met an old friend | in the way to her office. | No Error
Options:

1. % 4 few days ago,

2. % Radhika met an old friend

2. ¥ in the way to her office.

4. % Mo Error

Question Number : 62 Question Id : 9662318298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

A& few days ago, | Radhika met an old friend | in the way to her office. [ No Error
Options:

1. % A few days ago,

2. % Radhika met an old friend

2. ¥ in the way to her office.

4. % Mo Error

Question Number : 63 Question Id : 9662318299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Kailash has a house (for letting).
Options:

1. % forlet

2. % with letting

3. % o letting

4. ¥ o let

Question Number : 63 Question Id : 9662318299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

Kailash has a house ifor letting).
Options:

1. % forlet

2. % with letting

2. % o letting



4 ¥ tolet

Question Number : 64 Question Id : 9662318300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options givern.

EBhupen ran (fastest) than all the other children.
Options:

1. * fast than

2. % faster

3. ¥ faster than

4. % fastest

Question Number : 64 Question Id : 9662318300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

Ehupen ran (fastest) than all the other children.
Options:

1. * fast than

2. % faster

2. ¥ faster than

4. % fastest

Question Number : 65 Question Id : 9662318301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly {and most appropriately) fills in the blank and completes the sentence below.

Rahul's mother found him playing ____ the street.
Options:

1. % at

2. % on

3. ¥ in

4. % about

Question Number : 65 Question Id : 9662318301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that correctly (and most appropriately) fills in the blank and cormpletes the serntence Delow,

Rahul's mother found him playing ____ the street.
Options:
1. % at
2. % on
2 ¥ in

4. ¥ about



Question Number : 66 Question Id : 9662318302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Environmental degradation

F : of the environment through
i : such as air, water and soil
E : 15 the detericration

S ;- depletion of resources

Options:

1. % PSROQ
2. ¥ RPS5Q
2. % REQP
4. % PR5SQ

Question Number : 66 Question Id : 9662318302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Environrmental degradation

F : of the environment through
2 such as air, water and 501l
E 15 the deterioration

S depletion of resources

Options:

1. % PEROQ
2. ¥ RP5Q
I % REQP
4 % PRSQ

Question Number : 67 Question Id : 9662318303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which best ERpresses the meaning of the givern word.

rMuffle
Options:

1. % Juggle
2. % Cruel
2 ¥ Wrap
4. % Mix

Question Number : 67 Question Id : 9662318303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which best expresses the meaning of the given word.

tMuffle
Options:



1. % Juggle
= % Cruel
3. ¥ Wrap
4. ® Mix

Question Number : 68 Question Id : 9662318304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Murly
Options:
1. ¥ Eright
2. ® Dusky
3. % Nasty

4 % Joint

Question Number : 68 Question Id : 9662318304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPOSITE in meaning to the given word,

Murloy
Options:
1. % Bright
2. % Dusky
3. % Nasty

4 % Joint

Question Number : 69 Question Id : 9662318305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. ¥ Maverick
2. % Mavireck
3. #® Mavereck

4 % Mavericek

Question Number : 69 Question Id : 9662318305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Maverick
2. % Mavireck
3. % Mavereck

4. % Mawvericel



Question Number : 70 Question Id : 9662318306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Labyrint

2. % Labirinth
2. ¥ Labyrinth
4. # Labyrith

Question Number : 70 Question Id : 9662318306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. # Labyrint

= % Labirinth
3. ¥ Labyrinth
4. % Labyrith

Question Number : 71 Question Id : 9662318307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Punctilous
2. % Punctilos
3. ¥ Punctilious

4 % Punctilius

Question Number : 71 Question Id : 9662318307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. % Punctilous
Z % Punctilos
2. ¥ Punctilious

4. % punctilius

Question Number : 72 Question Id : 9662318308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllOW‘iI]g 1dicrr mean’

Hue and Cry
Options:
1. % Expressing calmness

2. % Tobe silent



2. Loud clarmour
4. % To fight

Question Number : 72 Question Id : 9662318308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the following idiom mean?

Hue and cry

Options:

1. % Expressing calmness
2. % To be silent

2. ¥ Loud clarmour

4. % Tofight

Question Number : 73 Question Id : 9662318309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the following idiom mean?

FPalmy days

Options:

1. # Extremely hot days
= % Difficult times

3. % Long days

4. ¥ Prosperous tmes

Question Number : 73 Question Id : 9662318309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fDllDW‘iﬂg 1dicrm mean’?

Palry davys

Options:

1. % Extremely hot days
= % Difficult times

2. % Long davs

4. ¥ Prosperous tmes

Question Number : 74 Question Id : 9662318310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | sentences.

A& large bedroom for a number of people in a school or institution
Options:

1. % Hangar

2. ¥ Dormitory

3. % Kennel



4. % Infirmary

Question Number : 74 Question Id : 9662318310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of four alternatives, select the alternative which is the best substitute of the
words | sentences.

& large bedroom for a numiber of people in a school or institution
Options:

1. * Hangar

= ¥ Dormitory

2. % Kennel

4 % Infirmary

Question Number : 75 Question Id : 9662318311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | sentences.

& person or thing that is likely 1o cause harm, a threat or danger.
Options:

1. * Henpeck

2. % Epicure

2. % Debonair

4 % Menace

Question Number : 75 Question Id : 9662318311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the alternative which is the best substitute of the
words | sentences.

& persorn or thing that is likely to cause harm, a threat or dariger.
Options:

1. % Henpeck

2. % Epicure

2. % Debonair

4. ¥ Menace

Sub-Section Number: 2
Sub-Section 1d: 966231359
Question Shuffling Allowed : Yes

Question Id : 9662318312 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the passage carefully and answer the given question:

Rajneesh Chandra Mohan Jain, calling himself Bhagwan Shree Rajneesh during the 1970s and 1980s and
taking the name Osho in 1989, was a provocative Indian mystic, guru and philosopher. & professor of
phulosophy, he travelled throughout India in 19605 as a public speaker. He raised controversy by spealking
against socialisrr, Mahatma Gandhi and institutionalized religion, and by advocating a rmore opent attitude
towards sexuality. Towards the end of the 19605, he settled for a while in Mumbai. In 1970, he began
initiating disciples and took on the role of a spiritual teacher. In his discourses, he reinterpreted the writings of
religious traditions, mystics and philosophers from around the world. Moving from Mumbai to Pune in 1974,
he established an Ashram in Pune that began to attract increasing numbers of Westerners.

Sub questions

Question Number : 76 Question Id : 9662318313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rajneesh Chandra Mohan Jain wasnota _________.
Options:

1. * public speaker

2. * philosopher

2. % spiritual teacher

4. % vyoga guru

Question Number : 77 Question Id : 9662318314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did Eajneesh traweal throughout India?

Options:

1. % 1970
2. % 1980
2% 1960
4 % 1950

Question Number : 78 Question Id : 9662318315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did Fajneesh becorme a spiritual teacher?

Options:

1. 1570
2. % 1960
2% 1974

4. * 1989

Question Number : 79 Question Id : 9662318316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did Eajneesh Chandra Mohan Jain rmove to Pune?

Options:
1. % 1870

2. % 1974
3. % 1989
4 % 1960



Question Number : 80 Question Id : 9662318317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was attracted by the Ashram established by Rajneesh?

Options:
1. % Csho

2. % Spiritual teachers
2. % Mahatma Gandhi
4. % Westerners

Question Id : 9662318312 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cestion Label | Comprehiension

Read the passage carefully and answer the given question:

Rajneesh Chandra Mohan Jain, calling himself Ehagwan Shree Rajneesh during the 19705 and 19805 and
taking the name Osho in 1989, was a provocative Indian mystic, guru and philosopher. & professor of
philosophy, he travelled throughout [ndia in 19605 as a public speaker. He raised controversy by spealking
against socialisrm, Mahatma Gandhi and institutionalized religion, and by advocating & more opernt attitude
towards sexuality. Towards the end of the 19605, he settled for a while in Murmbai. In 1970, he began
initiating disciples and took on the role of a spiritual teacher. In his discourses, he reinterpreted the writings of
religious traditicns, mystics and philosophers from around the world. Moving from Mumbai to Pune in 1974,
he established an Ashrarm in Pune that began to attract increasing numbers of Westerners.

Sub questions

Question Number : 76 Question Id : 9662318313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fajneesh Chandra Mohan Jain was not a
Options:

1. % public speaker

2. % philosopher
=. * gpiritual teacher
4. % yoga guru

Question Number : 77 Question Id : 9662318314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did Fajneesh travel throughout India?

Options:

1. % 1970
2. % 1980
2% 1960

4. % 1950

Question Number : 78 Question Id : 9662318315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did Eajneesh becorme a spiritual teacher?

Options:



1. % 1970
2. % 1980
3. % 1974
4. % 19389

Question Number : 79 Question Id : 9662318316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhen did Fajneesh Chandra Mohan Jain mowe to Pune?

Options:

1. % 1970
2. ¥ 1974
3. % 1989

4. % 1980

Question Number : 80 Question Id : 9662318317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was attracted by the Ashrarm established by Rajrieesh?

Options:

1. ® Osho

= % Spiritual teachers
3. % Mahatma Gandhi

4. % wWesterners
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Question Number : 81 Question Id : 9662318318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TimET vg # ow et # € 39 Teen @7 o9 @ S 30 & a97 81

Options:
1. nidem
o, % g

3. % gagdl
4. % wEy

Question Number : 81 Question Id : 9662318318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fAwed! § 9, 39 Hwed @1 9 & 57 JUeT &7 2]

Options:
1. ¢ qita
2. ® grTe

3.8 g
4, % mET

Question Number : 82 Question Id : 9662318319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TieET ng H, oW [Oweat § 8, 39 @1 0w @7 o @ A Todd | o7 9eg ]

Options:

1. % gurEw
2. %

3. % g
4 & STl

Question Number : 82 Question Id : 9662318319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT mg §, g Deed § 9, 39 951 Td@wed &1 4= ¢ A7 Iedd o a7 9eg, 8l

Options:

1. % gurges
2. %

3. % g
4 & AT

Question Number : 83 Question Id : 9662318320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Ty ng o, o et § 9, e v & o Mdagaw I fomed &7 a9 #4

Options:
1. % &Fanr

o W AT
z % Fugd
4 % FEg

Question Number : 83 Question Id : 9662318320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v /. ox Teedt # 9, e v & oy Feargaw sk Heer &1 o9 340

Options:
1. % ramr

2 & F AT
3 % Fuge
4 % Fae

Question Number : 84 Question Id : 9662318321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THcRET mg #, oW Hwed! § 9, 39 THwed @7 909 & A1 180 7 8eg, & a1 Wiad e o1 &1 951 [da@eT 5

AT

Options:

1. % HHTAE
2. % T

3. ® gATAgcd
4. & FmATEAT

Question Number : 84 Question Id : 9662318321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg , or Teet # 9 39 T o7 o0 % A1 S T SR 9 a1 AT S w1 95 HweT 50

AT
Options:

1. % AT
o % gur

3. % gt
4. & AmATEAT

Question Number : 85 Question Id : 9662318322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e v §, o Teenl § 8, 39 fSeen o7 4= o A7 gunRit gee @1 |51 Swed a51 5

GICED
Options:
1. % Faerar

2. % TRE
3 % gfEr
4. ¥ @

Question Number : 85 Question Id : 9662318322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o ng #, oW Hwedt § 9, 39 Hwed @ 9a9 & A1 aARit d5g @7 957 Haed Tal 8]

i
Options:

1. % Faey
2 % TiREm
3. % oiET
4. 9 e

Question Number : 86 Question Id : 9662318323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEcRET ng #, oW el # 9, 39 ey @71 909 @ A1 [Da W J=g B 9949 SR0T [d@ed 3]

arf
Options:

1. % |
2. % 0=
= ® T
4 & s

Question Number : 86 Question Id : 9662318323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng | o Beedt § & 39 Swew o1 a9 o A1 BT g=g 77 qe9e sreT Awer 9

T
Options:

1. % Z@w
2 % U=
3 % T
4 & At

Question Number : 87 Question Id : 9662318324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty v /. ox Teedt # 9, e v & oy Feargaw sk Heer &1 o9 340

Options:

1. & et
o % e
3 % o
4 % g9

Question Number : 87 Question Id : 9662318324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET v 8 ox Tweat # €, T v & o dager ke Hwew # 7 o9= 740

Options:

1. & Tt
o % e
3 % I
4. % 39

Question Number : 88 Question Id : 9662318325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # ow et # 4 39 987 Been &1 o0 F 1 aeiat & 90 uw g # Beew gn

ST &HT T T
Options:

1. % a1

2 % @izg

3% gEdT

4 v g

Question Number : 88 Question Id : 9662318325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToAET ng & ow Heedt § 9§ 39 951 Dwed @7 =09 w1 Tt & W0 Uw geg @ Haed g

ST 47T T < B
Options:

1. % anmg

2 % @izg

2% yuar

4 ¥ g

Question Number : 89 Question Id : 9662318326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty v /. ox Teedt # 9, e v & oy Feargaw sk Heer &1 o9 340

Options:
1. ¥ gmT
2 %7
3 % 3
4 % 7

Question Number : 89 Question Id : 9662318326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET v 8 ox Tweat # €, T v & o dager ke Hwew # 7 o9= 740

W . TR & T Sy T (A
Options:

1.9 g

2 ®H

3 % 3y

4 % oy

Question Number : 90 Question Id : 9662318327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TieiT g §, oW Eweat § 8, 39 [awen @1 = & A7 SiA a2 @ Fa SFaT W gl

Options:

1. oot
o %

3 % TRy
4 % wysr

Question Number : 90 Question Id : 9662318327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TafeET ng #, o Sweul § 9, 39 [9@e0 &1 =09 ¢ A7 Si6 e & 999 28T 0wy 2]

Options:

1. ¢ Touerer
=z % ot

3 % ToRg
4 % It

Question Number : 91 Question Id : 9662318328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW et # 9, 39 &%ed #1999 T A1 150 17 =g 1 51 SHA0T 9167 J=g 81

T
Options:

1. ® FoieaT
o % it



3. ¥ guicaHT
4 ® guediHt

Question Number : 91 Question Id : 9662318328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, o Seent § §, 39 Soe o7 =49 o A7 750 M7 sfeg &7 |51 S0 J1:T e, 5l

T
Options:

1. % gufea
o % i

3. ¥ quieeHr
4. ® FuedHr

Question Number : 92 Question Id : 9662318329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Traierad wg /. o fowedt 8 9, 39 fowed &7 o ® SAT gieaT Jeg & qad SRaT [daed 2l

Options:
1. % o
2. W TE

3 ® geaw
4 ® v

Question Number : 92 Question Id : 9662318329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeiET v 6, o fHeeul § 8, 39 fEeed 57 Ze @ S giee g6 & g9 amg fHwed 8

Options:
1% od

2. ¥ e
3. ® goar
4. ® T

Question Number : 93 Question Id : 9662318330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty vg §, ox Bt 8 9, 39 Swer @1 o9 =0 A1 o my ggrae &1 a5t anf ane e g1

g e
Options:

1. % aem
2 % g fHurEm
3. ¢ Tomg g

4. % g J wAN

Question Number : 93 Question Id : 9662318330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 9662318331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 9662318331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 9662318332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 9662318332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 966231361
Question Shuffling Allowed : Yes

Question Id : 9662318333 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 9662318334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 9662318335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THET T T TS T AT 87
Options:

1. & UEIgaT WaT @ |

2. ® digr - gt

3 ® g A

4, % FET AT

Question Number : 98 Question Id : 9662318336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 9662318337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 9662318338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 9662318333 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Zuestion Label : Comprehension
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Sub questions

Question Number : 96 Question Id : 9662318334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 9662318335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 98 Question Id : 9662318336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 9662318337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question 1d : 9662318338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231362
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662318339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Innate immunity means the:

Options:
, « Tesistance that an individual possesses by birth

- u lesistance acquired by an individual during the course of his/her life

- % inmunity that is transferred to a recipient in the readymade form

4 % resistance transferred from mother to her fetus

Question Number : 101 Question Id : 9662318339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 9662318340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is an autonomy?



Options:
, = Concern for the welfare & wellbeing

- w Acting in accordance with the code of ethics

5 o Right to self-determination

4 = Acting in accordance with a fair treatment

Question Number : 102 Question Id : 9662318340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 9662318341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the physiological barriers of comumunication of the following points mentioned?

a. Vision defects

b. Excessive noise

c. Excessive light

d. Hearing defects
Options:

1 a&d
> % b&c

= ®% a&c

4 % d&c



Question Number : 103 Question 1d : 9662318341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 9662318342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
While implementing a nursing intervention, the nurse should perform which of the following actions first?

Options:
; = Carrying out nursing intervention

> » Documenting interventions

- » Determining the need for assistance

4  Reassessing the client

Question Number : 104 Question Id : 9662318342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 9662318343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An 80-year-old elderly women brought to the emergency department with C/O right hip pain. On inspection, the nurse

observes what appears to be cigarette burns on the client’s inner thighs. Choose the option that shows the most
appropriate documentation.

Options:

, « Six round skin lesions partially healed on the inner thighs bilaterally

> % Many burned areas on both inner thighs of the victim

- » Number of lesions on inner thighs possibly related to elder abuse

4 = Multiple lesions on inner thighs similar to cigarette burns

Question Number : 105 Question Id : 9662318343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 9662318344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A rectal thermometer is inserted into the anus of an adult client.

Options:



1 % 1inch
> o L.5 inch
= % 2inch

4 ® 2.5inch

Question Number : 106 Question Id : 9662318344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 9662318345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which pulse site requires the location of Point of Maximal Impulse (PMI)?

Options:
1 % Radial

- % Carotid
5  Apical

4 % Femoral

Question Number : 107 Question Id : 9662318345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id ;: 9662318346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the angle of Louis?

Options:
1 % The landmark of sternum

» w [Iheangle between clavicle and sternum

5  The junction between sternum and manubrium

4 = The superior border of second rib

Question Number : 108 Question 1d : 9662318346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 9662318347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the normal colour of the tympanic membrane?

Options:



, « Peatly gray
-~ % Pink
3 % Red

4 % TYellow amber

Question Number : 109 Question Id : 9662318347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 9662318348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the most appropriate time for a nurse to obtain a sputum specimen for culture?
Options:

, « Early in the morning

-~ u After aerosol therapy

= #% After the breakfast

4 = After chest physiotherapy

Question Number : 110 Question Id : 9662318348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 9662318349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which position is best to place the patient who is in shock?
Options:

, w Fowler’s position

- % Supine position

-  Head low position

4 = Leftlateral position

Question Number : 111 Question Id : 9662318349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 9662318350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the physician orders erythromycin 5 mg oral suspension, how many teaspoons the nurse will administer from oral

suspension of 25 mg per 5 ml?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:



|-

Question Number : 112 Question Id : 9662318350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1 1

> 2

4 4

Question Number : 113 Question Id : 9662318351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How to straighten the ear canal for proper administration of an optic medication to a 2-vear-old child?
Options:

, = Pull the ear straight back

> « Pull the ear down and back

5 % Pull the ear up and back

4, = Pull the ear straight upward

Question Number : 113 Question Id : 9662318351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 9662318352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the best route to administer insulin?
Options:

1 % Intradermal

> « Subcutaneous
= # Intramuscular

4 % Intravenous

Question Number : 114 Question Id : 9662318352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 115 Question Id ;: 9662318353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify a condition where low protein diet is advised?

Options:



, w Post-operative patients
- % Liver cirrhosis
= « Chronic renal failure

4 % Burns

Question Number : 115 Question Id : 9662318353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 9662318354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr. X is suffering from cardiovascular disease.
Identify an ideal type of diet to prescribe?
Options:

, « Low fat, low cholesterol. high fibre diet

» % Low fat, low cholesterol, low fibre diet

- » Low fat, high protein, high fibre diet

4 = Low fat, low protein. high fibre diet

Question Number : 116 Question Id : 9662318354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id : 9662318355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which vitamin deficiency causes Wernicke Encephalopathy?

Options:
1 % Riboflavin

> ¢ Thiamine

- w Pyridoxine

4 % Niacin

Question Number : 117 Question Id : 9662318355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 9662318356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following amino acids is used for the synthesis of thyroid hormones?

Options:



; w Glycine

- % Alanine

- « Phenylalanine

4 % Glutamine

Question Number : 118 Question Id : 9662318356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 119 Question Id : 9662318357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The enzyme that is elevated in mvocardial infarction is:

Options:
1 % Alanine transaminase

- = Alkaline phosphatase

5 w Acid phosphatase

4 « Lactate dehydrogenase

Question Number : 119 Question 1d : 9662318357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 9662318358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a function of prostaglandins?

Options:
, « Inhibit platelet aggregation

> w Increase platelet aggregation

= % Promote vasoconstriction

4 # Inhibit capillary permeability

Question Number : 120 Question Id : 9662318358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question Id : 9662318359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are working in a kitchen and find some human figure and perceive it to be a ghost.

Identify the type of perception.

Options:
1 % Hallucination

- « Illusion

- » Perceptual constancy

4 = Motion parallax

Question Number : 121 Question Id : 9662318359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question 1d : 9662318360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who proposed theorv of classical conditioning?

Options:
1 « Ivan Pavlov

> % Albert Bandura

- = Wwoltgang Kohler

4 % Gestalt

Question Number : 122 Question Id : 9662318360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FlHehel HEre(AeT & HSd *1 95 b @n?
Options:

| v SO 9T

2 %
3T FIgAT
4_£m

Question Number : 123 Question Id : 9662318361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The meaning of semantic memory is:

Options:



, w storing to perform different skills

- u storing high emotional events

-  storing factual information

4 % storing personal memories

Question Number : 123 Question Id : 9662318361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 9662318362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify correct statement from the following with regard to extrinsic motivation?
Options:

, « Itisbased on reward and punishments

> % It is the desire to exert influence over others

5 w It is the desire to harm or injure others

4 = Itresults from personal enjoyment of task

Question Number : 124 Question Id : 9662318362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question 1d : 9662318363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sutures are present between parietal and frontal bones?

Options:
1 ® Frontal sutures

- w Sagittal sutures

=z % Lambdoid sutures

4 « Coronal sutures

Question Number : 125 Question Id : 9662318363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 9662318364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the longest anteroposterior diameter of the fetal skull?

Options:



, w Suboceipito-frontal diameter

- % Suboccipito-bregmatic diameter

% % Submento-vertical diameter

4 « Mento-vertical diameter

Question Number : 126 Question Id : 9662318364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 9662318365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which condition does the vaginal bleeding appear as ““white currant in red currant juice?”
Options:

, « Hydatidiform mole

-~ = Septic abortion

5 % lubal rupture

4 = Cervical incompetence

Question Number : 127 Question 1d : 9662318365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id ;: 9662318366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear was the Medical Termination of Pregnancy Act implemented in India?

Options:
1« 1972

> % 1983
5 % 1995

4 % 2001

Question Number : 128 Question 1d : 9662318366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| @ 1972

. % 1983
5 % 1995

. ® 2001

Question Number : 129 Question Id : 9662318367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which position is preferred for pregnant mother with cardiac disease to minimise aortocaval compression?

Options:



.  Supine position

-~ % Prone position

-  Lateral recumbent position

4 = Fowlers position

Question Number : 129 Question Id : 9662318367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 9662318368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following cases does the erythroblastosis fetalis occur?

Options:
1 = Mother is Rh+ve; fetus is Rh-ve

- % Both mother and fetus are Rh-ve
=  Mother is Rh-ve; fetus is Rh+ve

4 % Both mother and fetus are Rh+ve

Question Number : 130 Question Id : 9662318368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 9662318369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which condition gives the baby “an old man look?”

Options:
1 % Prematurity

- « Intra-uterine growth restriction

5 » Post-maturity

4 w Low birth weight

Question Number : 131 Question Id : 9662318369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 9662318370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following conditions is a contraindication to ergometrin, which is preseribed for a mother with postpartum
hemorrhage?
Options:

; » Hypotension

> w Hypothyroidism

%z % Diabetes mellitus

i Peripheral vascular disease

Question Number : 132 Question Id : 9662318370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 9662318371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following assessment findings would alert the nurse to a compromise when she is monitoring a pregnant

mother with dysfunctional labour for signs of fetal or maternal compromise?
Options:
1 % Coordinated uterine contractions

-  Persistent non-reassuring fetal heart rate

- = Maternal fatigue

4 = Progressive changes in the cervix



Question Number : 133 Question Id : 9662318371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 9662318372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which risk has to be monitored for by the nurse in the mother who has just delivered a newborn infant following a

pregnancy with a placenta previa?
Options:
1 % Infection

- = Chronic hypertension

-  Hemorrhage

4 = Disseminated intravascular coagulation

Question Number : 134 Question Id : 9662318372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question 1d : 9662318373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The area lying in front of the anterior fontanelle corresponding to the area of brow is called:

Options:
| « Sinciput

o # Vertex
=z % Mentum

4 = Occiput

Question Number : 135 Question Id : 9662318373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question 1d : 9662318374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The children in which age group exhibit parallel play?
Options:

| & < 1 year

5 o 2 3 years

L 5 years



i% > 5 years

Question Number : 136 Question Id : 9662318374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 9662318375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following conditions does a child pass red currant jelly stool?

Options:
L ¥ Intussusception

> % Hernia
%z % Crohn’s disease

4 % Acute abdomen

Question Number : 137 Question Id : 9662318375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 9662318376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The depth of compression while giving cardio-pulmonary resuscitation for an infant is:

Options:
: S ST
— to—th inch

g Wi T

> % 1 tol.1/5 inch

2 % 2inch

4 % 3inch

Question Number : 138 Question Id : 9662318376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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IJ
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Question Number : 139 Question Id : 9662318377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The deficiency of which factor causes Hemophilia B?

Options:
1 ® VIII
oo IX

o ® X

4 % XII



Question Number : 139 Question 1d : 9662318377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 9662318378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sign is elicited by the forced abduction of hip causing a clicking sound?

Options:
; = Kernig’'ssign

> w Barlow’s sign

- % Pronator sign

4 « Ortolani sign

Question Number : 140 Question Id : 9662318378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 141 Question Id : 9662318379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following diseases has Koplik’s spots as the important characteristic feature?

Options:
, = Diphtheria

5 % Mumps

5 # Chickenpox

4 « Measles

Question Number : 141 Question Id : 9662318379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 9662318380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which type of fracture does NOT produce open wound in the skin?
Options:

1 « Closed fracture

> w Open fracture

5 = Spiral fracture

g % Epiphyseal fracture

Question Number : 142 Question Id : 9662318380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 143 Question Id : 9662318381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is a killed vaccine?

Options:



1 & BCG
- ® OPV
= % Rubella

4 ¢ IPV

Question Number : 143 Question Id : 9662318381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 9662318382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following observations of a child with cast does NOT require any intervention?
Options:

, » Swelling or unusual coldness of toes or fingers of casted extremity

» % Tlightness of cast

- » Weak or absent peripheral pulse in a casted extremity

4 « Ability to move toes or fingers of casted extremity

Question Number : 144 Question Id ;: 9662318382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁﬁﬁﬁ?ﬁﬁﬁﬂﬁﬁ%ﬁ%ﬂﬁﬂﬁ?ﬁbﬁﬁd?ﬂﬁd%{d er &7

Options:




AT IT FiaT STl gC Oy @1 e s ¥ &5 Fear

..

o W ?ﬁﬁ'ﬂ-‘ﬂ%ﬂﬁ
ﬁmaﬁgwﬁ?ﬁm‘ FH o1 e 7@ A=

Jﬁﬁﬁg‘@ﬁ?ﬁ'ﬁﬁ'ﬁ%ﬂ?ﬁ%ﬁ

d. %

Question Number : 145 Question 1d : 9662318383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the most common type of club foot?

Options:
, = Talipes varus

-~ = lalipes valgus

5 « Tlalipes equinovarus

4 = Talipes calcaneovalgus

Question Number : 145 Question 1d : 9662318383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 9662318384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 9662318384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which clinical findings are observed in a child with nephrotic syndrome?
Options:

, » Edema, hypoalbuminemia, proteinemia

-  Hypoalbuminemia, hyperlipidemia, edema

s % Proteinuria. increased GFR, hematuria

4 = Hypertension, decreased GFR. proteinemia

Question Number : 147 Question Id : 9662318385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which condition is surgically corrected by the Kasai procedure?

Options:
1 ® Imperfm‘ate anus

- # Irachea-esophageal fistula

5  Biliary atresia

4 = Gastroesophageal reflux

Question Number : 147 Question Id : 9662318385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FEE TR ¥ FiF O BT F7 39=R Far @ 32

Options:



, « FEEEREe Roewn

Question Number : 148 Question Id ;: 9662318386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify false statement from the following with regard to prokaryotes?
Options:

. « Mitochondria, Golgi apparatus are present

- # Deoxyribonucleoprotein is absent

= % One chromosome is present

4 # Muramic acid is present

Question Number : 148 Question Id : 9662318386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 9662318387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurse assisted in cerebro-spinal tapping. What is the wrong statement related to the sample?



Options:
, = Transport the sample immediately to the lab

-  Refrigerate the sample in case of any delay in transport

5 u Collect cerebro-spinal fluid in sterile vials

4 = The minimum recommended volume of sample is 1 ml

Question Number : 149 Question 1d : 9662318387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 9662318388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the recommended dose series for Hepatitis B vaccination for health care workers?

Options:
, o BL0

. 0,1,7
5 % 0,15

4 % 0,18

Question Number : 150 Question Id : 9662318388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id ;: 9662318389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr. X is admitted to the ward with right lower quadrant pain in the abdomen. The patient is having severe pain on
assessment.

What intervention the nurse can perform till the doctor arrives?

Options:

 The nurse can start enema to relieve abdominal pain

Do

- = Hot water bag can be applied to the right lower quadrant

5 % [Ihenurse can start analgesics to control pain

4  Thenurse can apply ice bag to the lower quadrant

Question Number : 151 Question Id : 9662318389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 9662318390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Identify hypertonic solution from the following?

Options:
1 % 0.45% Nacl

5> « 10% Dextrose in Water
= % 5% Dextrose in 0.225% Saline

4 = Lactate Ringers Solution

Question Number : 152 Question Id : 9662318390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T gu Resdt & & sifogarr geor # ar 22
Options:

. » 0.45% WETH FoNES
L » T H 10% SFEES
. « 0.225% Welrgal # 5% SFHIS

, » oiFee R gEor

Question Number : 153 Question Id : 9662318391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Nurse is giving discharge advice to the patient after intra-ocular lens implant.
Which of the following would be a wrong advice?

Options:

 Wwear metal eve shield at all times

e o

5 % Wash hands before touching or cleaning eve

-  Lie down on the side of affected eye

4 = Bathe or shampoo hair cautiously

Question Number : 153 Question Id : 9662318391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 9662318392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurse is caring for a patient with renal failure. The nurse monitors the client for which acid base balance?

Options:
; = Respiratory acidosis

> u Respiratory alkalosis

% « Metabolic acidosis

4 % Metabolic alkalosis

Question Number : 154 Question 1d : 9662318392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 9662318393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the side effect of drug ethambutol?

Options:
L ¥ Optic neuritis

- u Hepatotoxicity

z % Deafhess

4 = Hypersensitivity

Question Number : 155 Question Id : 9662318393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 9662318394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cor pulmonale can be described as the enlargement of:

Options:
1 % left atrium of the heart

> % left ventricle of the heart

- » lightatrium of the heart

4  light ventricle of the heart

Question Number : 156 Question Id : 9662318394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 9662318395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How long does it take for Troponin —I to return to normal after an episode of acute myocardial infarction?

Options:
1 « 1-3 weeks

> % 3-6 Weeks
= % 12 hours

4 ® 3-4days

Question Number : 157 Question Id : 9662318395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question 1d : 9662318396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What is the correct nursing intervention after renal arteriogram?
Options:
, = Administer radio-opaque dye

-  Check peripheral pulses every 30-60 minutes

= % Administer sedatives

, = Encourage ambulation to increase circulation

Question Number : 158 Question Id : 9662318396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 9662318397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A patient is posted for cataract surgery.

Which type of eve drops are to be prescribed?
Options:
. « Mydriatics

- » Prostaglandins

- % Carbonic anhydrase inhibitors

4 % B-blockers

Question Number : 159 Question Id : 9662318397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 9662318398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Watch tick test, Weber Test, Rinne test are done to assess which cranial nerve?

Options:
1 % Cranial Nerve XI

> % Cranial Nerve VI
= % Cranial Nerve III

4 « Cranial Nerve VIII

Question Number : 160 Question Id : 9662318398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 9662318399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Battles sign is an indicator of:

Options:
1 % Stroke

- % Brain tumour
3 « Skull fracture

4% Viral meningitis

Question Number : 161 Question Id : 9662318399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

§od TS SHFT [dcelF aiar &

Options:

1%1@?



ATETSF FT THT

2 # ol

o TS T TR

, » TS AfFeesfew

Question Number : 162 Question Id : 9662318400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is enuresis?

Options:

, = Involuntary urination with increased pressure

-  Involuntary nocturnal urination

- » Inability to voluntarily control urine

4 % Painful urination

Question Number : 162 Question Id : 9662318400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 9662318401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurse is giving discharge advice for patient with hypothyroidism.
Which one of the following would be a wrong advice to give?

Options:



, = -Avoid exposure to cold temperature

-~ » Plan diet intake with high fibre, low calorie diet

=  Stop medical regimen when the values are normal

4 # Mandatorily have follow up visits

Question Number : 163 Question Id : 9662318401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 9662318402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who proposed the population theory?

Options:
1 % Kolb and Brunner

> % J.F.Cuber
% % Ibbotson

4 « Robert Malthus

Question Number : 164 Question Id : 9662318402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 9662318403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The horizontal division of society into higher and lower social units is called:
Options:

1 « Social stratification

-~ % Social change

= % Social disorganisation

4 % Social mobility

Question Number : 165 Question Id : 9662318403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 9662318404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The National Rural Health Mission (NRHM) was launched in the year:

Options:



, ® 2000
> % 2010
3 o« 2005

2012

b
g{

Question Number : 166 Question Id : 9662318404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 9662318405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Secondary prevention aims to reduce the:
Options:

1 # incidence

- % compilation

5  prevalence

4 % secondary cases

Question Number : 167 Question Id : 9662318405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question 1d : 9662318406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Prevalence refers to the total mumber of:

Options:
1 ® New cases

- % old cases
= o new and old cases

4 % deaths

Question Number : 168 Question Id : 9662318406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 9662318407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sudden outbreak of disease in the entire country is known as:
Options:
¢ Sporadic

e o



> o Pandemic
%z % Endemic

4 # Epidemic

Question Number : 169 Question Id : 9662318407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
W & H SANT & FAEF TPT B FAT FEd 27

Options:

1_£ﬂﬁﬁ
, o Teearr FEE ()

S_QW

ATATeR 9T (TEfaEF)

4 ®

Question Number : 170 Question Id : 9662318408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which disease of the following is spread by drinking contaminated water?

Options:
, « Typhoid

> % Malaria

- » Hepatitis ‘B’

4 # Diphtheria

Question Number : 170 Question Id : 9662318408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 9662318409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Live vaccines should not be administered to persons with the issue of:
Options:

1 % Vomiting
> #% Diarrhoea

%z « Leukemia

4 % Fever

Question Number : 171 Question Id : 9662318409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 9662318410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The recommendation of Chadha committee is:
Options:

, % One PHC/40,000 population



-  One basic health worker/10.000 population

- % One basic health worker/5000 population

4 = One CHC/40,000 population

Question Number : 172 Question Id : 9662318410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 9662318411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The reconstituted measles vaccine has to be used within:
Options:

1 « 4 hours

- % 6 hours
= # 8 hours

4 % 2 hours

Question Number : 173 Question Id : 9662318411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 9662318412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The contraceptive that affects sperm motility, capacitation and survival is:

Options:
1 % MalaD

5 of Copper T

- % vaginal Ring

4 = Progesterone only pill

Question Number : 174 Question Id : 9662318412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 9662318413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The best measure to control the spread of influenza is:
Options:

, w» Administering influenza vaccination



-  Avolding crowded places

5 » laking plenty of oral fluids

4 = Administering influenza immunoglobulin

Question Number : 175 Question Id : 9662318413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 9662318414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The reservoir of infection for ascariasis is found only in:
Options:

Dog

i -
- % Cattle
= o Man

Question Number : 176 Question 1d : 9662318414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question 1d : 9662318415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following situations a woman from the community is referred to First Referral Unit (FRU) for further

management?
Options:
1 % Contractions once in 5 minutes

- u Fresh bleeding per vagina

-  Horizontal ridge across the lower abdomen

4 = Labour first stage lasting for more than six hours

Question Number : 177 Question Id : 9662318415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 9662318416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Disagreement between the therapist and the client results in:

Options:



1 % Resistance
- % Reluctance

- % [Iherapeutic relationship

4 « Therapeutic impasse

Question Number : 178 Question Id : 9662318416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 9662318417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The IQ range of a profound mentallv retarded client is:

Options:
1. ® 50-70

35-50

P
g{

20-35

A
ﬁ’{

4 « Lessthan 20

Question Number : 179 Question Id : 9662318417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 9662318418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A surgeon whose patient doesn’t respond as he anticipated may tend to criticise the theatre nurse who helped the

surgeon af the time of operation. This behaviour is an example of:
Options:
1 # Rationalisation

» % Compensation

5 = Regression

i Projection

Question Number : 180 Question 1d : 9662318418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question 1d : 9662318419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is a technique of behavioural therapy?
Options:

1 % Imitation

-  Aversion therapy

- % Psychodrama

4 = Sharing experience

Question Number : 181 Question Id : 9662318419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 9662318420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a priority component in nursing assessment of a client with depression?
Options:

, = Marital and family status
- % Nufritional status

= « Suicidal ideation

4 # Sleep disturbances

Question Number : 182 Question Id : 9662318420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 9662318421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the somatisation disorder?
Options:

, = Persistent pre-occupation with fear

-  Multiple somatic symptoms in absence of physical disorder



= w Multiple neurological disorders

4 = Combination of psychotic and neurotic disorders

Question Number : 183 Question Id : 9662318421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 9662318422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a contra-indication for group therapy?

Options:
1 % Adolescents

- » Patients with personality disorders

5  Adti-social patients

4 = Families and couples

Question Number : 184 Question 1d : 9662318422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 9662318423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is substance abuse?

Options:

, = Certain physiological and psychological phenomena induced by repeated consumption/intake of a substance

-  Maladaptive pattern of substance use

3 ® Developing drug tolerance

4 » Experiencing withdrawal symptoms

Question Number : 185 Question Id : 9662318423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 9662318424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A child who shows language competence, and speaks at home but is mute at school is known as:
Options:

1 « Elective mutism

- = Atypical autism



- % Rett’s syndrome

4 = Social anxiety disorder

Question Number : 186 Question Id : 9662318424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 9662318425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the most important assessment data a nurse could gather from a patient who is in crisis?

Options:
1 % Socloeconomic status

> % Nutritional status

=  Strengths and support system

4 = Family health status

Question Number : 187 Question Id : 9662318425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Taoa # ¥ #i9 9 §99 AT Ul 927 § F9 A0S TFeF H § 99 kel & g T
IEY TI°d FHT Hehal 7

Options:

| = TEATSS AR e Tl



o ® W%ﬂﬁ
. v TFd AR YR JUTer

4w STRETREs TETEeT Fr T

Question Number : 188 Question Id : 9662318426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the substitute consent?
Options:

, « The consent given by an authorised person when a patient is not capable of giving their own consent

> % The consent given by patient’s relatives when the patient is not willing for treatment

- = Ihe consent given by the police for a patient who is a state prisoner

4 = The consent given by spouse to admit a patient
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 189 Question Id : 9662318427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is cluttering?

Options:

1 % Disturbance in language output



-  Erratic dysrhythmic speech

5 = Repeating words and phrases

, = Feeling of intense rapture
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The philosophy that believes that the students must be guided for cultivation of higher values of life through moral and

religious instructions is:
Options:
1 % Realism

> % Naturalism
z « Idealism

4 # Pragmatism
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The evaluation done at the end of the term/course/programmes is known as:

Options:
1 % Formative evaluation

- % Formal evaluation

- w Interrogative evaluation

4 « Summative evaluation
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Correct Marks: 1 Wrong Marks: 0.25

The type of motivation that is concerned with inner gratification and feeling of fulfillment is called:
Options:

1 + Intrinsic motivation



> % Extrinsic motivation
z % Self-esteem

4 # Adjourning
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Which one of the following is a two-dimensional teaching aid?

Options:
L o Puppet

> % Chalk board
3 % Chart

4 % Poster
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The Trained Nurses Association Of India ( TNAI) is associated with:

Options:
1 % World bank

> « Common Wealth Federation

z % Nurses Federation
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The supervisory style in which a supervisor will NOT interfere till subordinate asks owing to the faith and confidence in

subordinate is known as style.
Options:
1 « democratic



> % benevolent
%z % autocratic

4 % laissez-faire
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Correct Marks: 1 Wrong Marks: 0.25
The hospitals run by limited companies formed under Companies Act are called:
Options:

, = Private hospitals

»  Corporate hospitals

- % voluntary hospitals

4 = Public hospitals
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Correct Marks: 1 Wrong Marks: 0.25
The research design that investigates the live experiences of people is called:

Options:
; = Casestudy

> % Action research

- = Quasi-experimental research

4 « Phenomenological research
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The degree of consistency with which an instrument measures the attribute is called:
Options:

1 % Variance



, » Reliability

. » Validity

4 = Regression
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Which of the following biophysiological tests is an example of in vivo data?
Options:

, « Blood pressure

» % Blood glucose

% % Bacterial count

4 » Bone marrow biopsy
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The variables that are not of interest to the researcher and are not part of the research, but may effect on the

measurement of the study variable. are called:
Options:
1 % Attribute variables

-~ % Dependent variables

3 « EXftraneous variables

4 = Independent variables
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